
DISTRIBUTORI 
ROTANTI

HYDRAULIC  
SWIVEL JOINTS

Via Mastroppa, 4/6 -  46040 Monzambano (Mantova) -  Italy -  Tel. +39 0376 800200 (r.a.) -  Fax +39 0376 800410 -  hbs@hbs.it -  www.hbstransmittal.it

HB S s .r.l .  Hydraulic Swivel J oint B ranch

Via Mastroppa, 4/6 -  46040 Monzambano (Mantova) -  Italy -  Tel. +39 0376 800200 (r.a.) -  Fax +39 0376 800410 -  hbs@hbs.it -  www.hbstransmittal.it

HB S s .r.l .  Hydraulic Swivel J oint B ranch



Questo è lo spirito col quale dal 1967 operiamo 
nel settore oleoidraulico. Con grande caparbietà 
ed entusiasmo abbiamo lavorato in questi anni 
per o�rire sempre il massimo in termini di 

Oggi i nostri prodotti sono utilizzati con successo 
in tutto il mondo. 
Nei nostri stabilimenti di Monzambano, su 12000 

trovano spazio i laboratori di ricerca e controllo 
qualità. La nostra missione non è solo produrre 
parti oleoidrauliche ma soprattutto diventare 
partner ideali per l’azienda cliente.
In conformità alle disposizioni contemplate dalle 

viene costantemente monitorata con tecniche 
statistiche dai tecnici del controllo qualità per 
tutta la durata del processo produttivo. HBS 
Transmittal produce distributori e giunti rotanti 
di alta precisione con requisiti qualitativi in 
corrispondenza alla normativa ISO 9000-2000.

fasi di lavorazione, unitamente al rispetto dei 
termini di consegna, rappresentano i riferimenti 
costanti della politica aziendale HBS Transmittal.
Il nostro obiettivo è quello di passare da fornitori 
a partner ideali. 

HBS TRANSMITTAL
TECNOLOGIE ALL’AVANGUARDIA

This is the spirit we have been working in since 

we have directed our e�ort to achieve the best 
results in quality, reliability and development, 
and today our products are successfully utilized 
all over the world. Our Monzambano-based 
factories cover a surface of 12000 square meters 
and include the manufactoring department, 
the research lab and the quality control 
department.
We have a mission, we do not want to be just 
manufacturers of hydraulic parts, we also aim 
at becoming our customers’ ideal partners. 
Our products’ excellent quality is guaranteed 

by our statistic control systems and also by the 

compliance with the regulations ISO 9000-2000.
We constantly control the raw materials in each 
phase of the manufactoring process, we examine 
them while they are taking shape, we check them 
while they are being processed and assembled 
and we continue to control our products until 
they are customized and delivered.
We would like our customers to consider us as 
their ideal partner, not just as their supplier, 
which we already are. 

HBS TRANSMITTAL
AVANTGARDE TECHNOLOGY



Distributori Rotanti
Distributori rotanti per trasmissione di olio 
idraulico, acqua e liquidi refrigeranti. Tutte le 
versioni possono essere corredate di distributore 
rotante elettrico.

Hydraulic 
Swivel Joints
Swivel joints for the transmission of hydraulic 

equipped with electrical swivel joint.



Settori di Applicazione
Application Fields

AUTOBETONPOMPE    TRUCK-MIXER PUMP

PIATTAFORME AEREE    AERIAL PLATFORMS

ESCAVATORI    EXCAVATORS

SOLLEVATORI TELESCOPICI    TELEHANDLERS

GRU    CRANES

GENERATORI EOLICI    EOLIC SYSTEMS Ricerca 
e Sviluppo

Research 
and development

Scegliere la tecnologia HBS Transmit -

sicuro sinonimo di qualità nel solleva -
mento. Per questo mettiamo a disposi -
zione il know how dei nostri ingegneri 
progettisti e dei nostri tecnici che af -

nello studio e nella ricerca di nuove 
soluzioni. Grazie all’elevata esperien -
za acquisita dal proprio personale, 
HBS Transmittal garantisce servizi 
di studio e progettazione personaliz -
zati e consulenze nell’installazione  
di impianti ad alto livello professiona -
le. Con il reparto progettazione, HBS 
Transmittal è in grado di ideare, realiz -
zare e personalizzare, in sinergia con 
il cliente, distributori rotanti altamente 
innovativi per ogni tipo di impiego, dai 
trasporti al movimento terra, dall’edi -
lizia all’agricoltura, dall’ecologia agli 
impianti industriali. HBS Transmittal è 
una realtà in grado di anticipare i biso -
gni di un mercato in costante evoluzio -
ne. HBS Transmittal fonda sulla sinergia 
con il cliente il principio della propria 

evoluzione.

To choose technology HBS Transmittal, mean 
to entrust themselves to a sure, synonymous 
partner of quality in the lift. For this we put 
to disposition know how of the our engineers 
and our technicians who place side by side the 
customers in the planning, in the study and the 
search of new solutions. Thanks to the high level 
of experience acquired by its personnel, HBS 
Transmittal personalised design and planning, 
and high level professional consulting for the 
installation of systems are guaranteed.
With the unit planning, HBS Transmittal it is in a 
position to devising, realizing and to personalize, in 
synergy with the customer, hydraulic swivel joint 
highly innovated for every type of employment, 
from the transports to the earth movement, 
from the building to agriculture, the ecology 
to the industrial systems. HBS Transmittal 

                                                                                                                                      gninnurerof ot noitisop a ni hturt eno si
                                                                                                                                       .noitulove tnatsnoc ni tekram a fo sdeen eht

HBS Transmittal bases the principle of its own 
development upon synergism with the costumer.



ACCESSORI:

(compilare scheda informativa riguardante la parte elettrica).

ACCESSORIES:
Every model can be equipped with electrical swivel joint following 

electrical part).

ROTORE/ROTOR

STATORE/STATOR

V-SEAL

PATTINO/SLIDE RIN G O-RING

O-RING

V-SEAL ANELLO ANTIGRIPPAGGIO/ANTI-FRICTIONAL RING

ANELLO ANTIGRIPPAGGIO/ANTI-FRICTIONAL RING

MATERIALI DI COSTRUZIONE  
statore : C40  - alluminio; rotore : S35J2G3  - alluminio

FLUIDI
olio idraulico - DOT 4 - H2O - grassi - idrocarburi - gas

TRATTAMENTI SUPERFICIALI
statore : cromo duro - nichelatura - ossidazione
rotore:  fosfatazione al manganese- nichelatura - ossidazione

TENUTE

CARATTERISTICHE DI LAVORO
temperatura consigliata d’esercizio: -10°C a +80°C
temperatura massima d’esercizio: +90°
temperatura massima/minima ambientale: -20°C + 60°C
n° di giri max di rotazione: 10(rpm)
pressione max: 420 bar; pressione di lavoro: 350 bar
coppia di rotazione: dipende dal modello; coppia di stacco: dipende dal modello
montaggio: orientamento verticale; forze radiali e assiali: non concesse

Tutti i dati contenuti nel presente documento non sono riproducibili e posso-

CONSTRUCTION :   
stator : C40  - aluminium;  rotor : S35J2G3  - aluminium

FLUIDS
hydraulic oil – DOT 4 – H2O – grease – hydrocarbons - gas

SURFACE TREATMENTS
stator: hard chromium plating – nickel plating – hard oxidation
rotor: phosphatizing with manganese – nickel plating – hard oxidation

SEALING COMPONENTS

WORKING CONDITIONS
ideal operating range: -10°c ÷ 80°c
max operating temperature: 90°c
min/max environment temperatures: -20°c / +60°c
max rotating speed: 10 rpm
max pressure: 420 bar; working pressure: 350 bar
rotating torque: it depends by the model; starting torque: it depends by the model
mounting position: vertical; axial and radial loads: no allowed

at discretion of hbs.



INDICE / INDEX

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 

DISTRIBUTORE ROTANTE 6 VIE / SWIVEL JOINT 6 WAYS 

DISTRIBUTORE ROTANTE 10 VIE / SWIVEL JOINT 10 WAYS 

DISTRIBUTORE ROTANTE 14 VIE / SWIVEL JOINT 14 WAYS 

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 

DISTRIBUTORE ROTANTE 12 VIE / SWIVEL JOINT 12 WAYS 

DISTRIBUTORE ROTANTE 16 VIE / SWIVEL JOINT 16 WAYS 

DISTRIBUTORE ROTANTE 3 VIE / SWIVEL JOINT 3 WAYS 

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 

DISTRIBUTORE ROTANTE 11 VIE / SWIVEL JOINT 11 WAYS 

DISTRIBUTORE ROTANTE 15 VIE / SWIVEL JOINT 15 WAYS 

DISTRIBUTORE ROTANTE 5 VIE / SWIVEL JOINT 5 WAYS 

DISTRIBUTORE ROTANTE 9 VIE / SWIVEL JOINT 9 WAYS 

DISTRIBUTORE ROTANTE 13 VIE / SWIVEL JOINT 13 WAYS 

DISTRIBUTORE ROTANTE 18 VIE / SWIVEL JOINT 18 WAYS 



M8 N.4

94

85

45° 45°

2

1

62

10
14

10
3,

5

M
10

37
,2

10

72

106

8

2

1/4"G 1/4"G

14
,5

34

1313

42 42

16 16

1

2

2 1

ab

ROTORE

1

2 2

1

STATORE
a

b

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 350 400 Hydraulic Oil
2 3/8"G 3/8"G 10 350 400 Hydraulic Oil

68

28

78

15
3,

5

17,5

1

47
,5

20

60

92

26

1

2

12

M8 N.3

78

60° 60°

2 1

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 350 400 Hydraulic Oil
2 3/8"G 3/8"G 10 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 
Cod. D045020000 Cod. D045020200 



10
15

M
12

 N
.2

12

22

1"G

68

81

11
6

2

72

118

15
11

23,5 23,5

30

52

2

1

21

100

M8 N.3

30°

85

30
° 30°

1

2

1 2

M6 N.2

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 350 400 Hydraulic Oil
2 3/8"G 3/8"G 10 350 400 Hydraulic Oil

M8 n.4

87

45° 45°

12

51

29

130

100

50 50

14

3/8"G n.2

25,5 25,5

1

2

ab

15
11

26
80

11
6,

3 M
12

1"G

3/8"G

12

67

M6 n.2

1

ROTORE

1

2 2

1

STATORE
a

b

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 350 400 Hydraulic Oil
2 3/8"G 3/8"G 10 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 
Cod. D060020100 Cod. D060020200 



162

M16 n.6

136

60° 60°

45° 45°

13 13

151

99

95

109

94

1

2

36

36
,574

,5
10

11
0

15
10

8
11

1

36
6

1 2

1

2

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil

105

168

R92
,5

24
017 n.4

151

25
°

25°

100

95
1255

22
,5

99

28
8,

5

2

221

35

94

22
,5

51
,5

12
0,

5

73 73

12

12

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 
Cod. D075020100 Cod. D075020200    



208

175

Ø16,5 n.16 (22.5°)

16
10

55
87

15
2

54
30

130

55 55

94

144

1 2

21

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 350 400 Hydraulic Oil
2 3/8"G 3/8"G 10 350 400 Hydraulic Oil

114

18

M10 N.4
96

42

30° 30
°

1 2

18
10

78

12
2,

5

21

1

118

84

75

28
,551

,5

41
M

12
x1

.5

1"G

M20x1.5

1

2

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 1/2"G 1/2"G 12 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 
Cod. D060020400 Cod. D060020500 



149

149

100

50

30
15

3

15
65

115

32,532,5

74
,5

39

1

2

1
2

21
0

11
1

34
7

20

M
10

 n
.8

M
10

 n
.8

M
12

15

56
,5

15

1

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 16 350 400 Hydraulic Oil
2 3/4"G 3/4"G 16 350 400 Hydraulic Oil

R120

13 n.3
50

32
32

200

45° 45°

1

2

1150

50

35

17

16

9315
3

M20x1.5

20

119

148

150
110

49

22
,5

1

2

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 17 350 400 Hydraulic Oil
2 3/4"G 3/4"G 17 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 
Cod. D085020200 Cod. D085020300 



170,5

M12 n.4

150

45° 45°

1

2

74
,592

,5
14

13
16

,5

14
8,

5

M
12

10

1"G

M20x1.532 32

36
,5 64

,5

136

120

104

1

2

21

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 1/2"G 1/2"G 12 350 400 Hydraulic Oil

170,5

M12 N.4

105

150

45° 45°

2

1

20

13

78

12
3

1"G

M20x1.5

M
16

13
5,

5

2

32,5 32,5

100

151

57

31 45

50

30

1

2

2 1

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 18 350 400 Hydraulic Oil
2 3/4"G 3/4"G 18 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 
Cod. D085020400 Cod. D085020500 



200

10,5 N.4

170

1

2

4
10

11
5,

5

98

90

15
50

135

12
0

27
0

1

1

80

30

57

92
,5

156
115

M10 N.4

78

1

2

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4 SAE 6000 3/4 SAE 6000 18 350 400 Hydraulic Oil
2 3/4 SAE 6000 3/4 SAE 6000 18 350 400 Hydraulic Oil

96

44

86

26
0

13 n.7

23
0

45°45°

1

2

20
,5

13
9

192
125

19
6,

5

16

M14 n.4

10

90

14
0

85 85

140

119

1

2

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil
2 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 
Cod. D085020600 Cod. D100020100 



64

64

M16 N.4

17 N.10

24
0

30
°

30
°

30°
30°

20
0

1

2

120

105
77,15

4044

180

12,85

1

34
12

63

12
9

19
2

27
5,

5

85 85

24
,5 45

23,5

1

2

12

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil
2 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil

220

70

13,5 n.4

200

1

2

15

145

20
50

102
160

175

16
9

45

2

21
4 80

30

M10 n.4

11
3,

5

50
,5

2

1

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 
Cod. D100020200 Cod. D105020000 



55,5

220

13,5 n.4

200

15

16
7

50
20

13
0

175

15
2

25
24

0

102

2

1

2

1

2

43
2

11
1,

5

48
,5

80

30
M

10
 n

.4

80

30

13
0

20
20

145

110

2

1

1

2

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 n.2 1/2" SAE 6000 1" SAE 6000 20 350 400 Hydraulic Oil
2 n.2 1/2" SAE 6000 1" SAE 6000 20 350 400 Hydraulic Oil

60

8

150

R15

13
17

16
0

48

176
140

1
2

50

30

M
12

 n
.2

126

31
3

11
2

11
2

98
13

17

2 2a

230

R9
5

70 13
5

13
 n

.4205

35 35

12

ROTORE

1

2 2

1

STATORE

2a

- SENZA LA PORTA AGGIUNTIVA 2a SUL ROTORE COD. D105020600
- WITHOUT ADDITIONAL PORT (2a) ON THE ROTOR COD. D105020600

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
2 1" SAE 6000 n.2 1" SAE 6000 25 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 
Cod. D105020100 Cod. D105020300 



200

R95

7013
5

13
 n

.4
35

35

30° 30°

30° 30°

175

1b2b

2a 1a

1

2

150 15

12

125

20

79,5

60

18

302b

1b

21
7

16
0

39
1,

5

48 48

11
2

11
2

60
176

19
0

159

M
12 n.2

1a1b

2a2b

ROTORE

1

2 2a

1b

STATORE

1a

2b

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" SAE 6000 n.2 1" SAE 6000 25 350 400 Hydraulic Oil
2 1" SAE 6000 n.2 1" SAE 6000 25 350 400 Hydraulic Oil

48
97

170

14
5

15

122

20
50

15

185 14
0

1

2

30

80

M10 n.4

214

33
0,

5

180

155

27
4

82

134

17 n.4

90

R101,5

23
5

1

2

ROTORE

1

2 2

1

STATORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil
2 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS 
Cod. D105020400 Cod. D125020200 



10
0

24
,8

50
25

80

17
6

20
16

2

55
0

177

170

225

M16 N.4

2

2b 2a

55
,8

4747

10,5

11
9,

7

140

2 1

PO
S.

 1
A

-1
B

PO
S.

 2
A

-2
B

1b

2a

35° 35°

25
° 25°

300

16
,5

 n
.4

264,5

2a2b

1b 1a

ROTORE

1

2 2a

1b

STATORE

1a

2b

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" 1/2 SAE 6000 1" 1/2 SAE 6000 35 350 400 Hydraulic Oil
2 1" 1/2 SAE 6000 1" 1/2 SAE 6000 35 350 400 Hydraulic Oil

30

M
10 N.4

79

45
,5

65

80

37 37

M25x1.5

22
1"G

1 3
2

3

2

1

50
66

83
,5

11

156

14
9

119

27
0

35

3

2

2

22
0

M
12 N.4

20
0

45° 45°

3

2

1

STATORE

1

ROTORE

2
3 3

2
1 POS. STATORE

stator
ROTORE

rotor DN [mm]
PRESSIONE LAVORO

[bar]
working pressure

[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 20 350 400 Hydraulic Oil
2 3/4"G 3/4"G 17 350 400 Hydraulic Oil
3 1"G 1"G 20 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 2 VIE / SWIVEL JOINT 2 WAYS DISTRIBUTORE ROTANTE 3 VIE / SWIVEL JOINT 3 WAYS 
Cod. D140020100 Cod. D085030200 



220

13 n.4

200

3

2

1

50
33

140

180

140

3

1

2
1

80

43
,5

10
9,

5

76
,5

30

80

38

14
9

27
2

15
,5

45

1
2

3

1

2

3

STATORE

1

ROTORE

2
3 3

2
1 POS. STATORE

stator
ROTORE

rotor DN [mm]
PRESSIONE LAVORO

[bar]
working pressure

[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 20 350 400 Hydraulic Oil
2 3/4"G 3/4"G 17 350 400 Hydraulic Oil
3 1"G 1"G 20 350 400 Hydraulic Oil

410

17 n.4

360

1

2

3

24
9,

5

20
,5

100

30

215

180

180

14
4

29

5

11

74

781

3

2
1 3

320
48

60

78

80

3

1

2

3

STATORE

1

ROTORE

2
3 3

2
1 POS. STATORE

stator
ROTORE

rotor DN [mm]
PRESSIONE LAVORO

[bar]
working pressure

[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 18 350 400 Hydraulic Oil
2 3/4"G 3/4"G 18 350 400 Hydraulic Oil
3 3/4"G 3/4"G 18 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 3 VIE / SWIVEL JOINT 3 WAYS DISTRIBUTORE ROTANTE 3 VIE / SWIVEL JOINT 3 WAYS 
Cod. D105030100 Cod. D145030100 



M8 n.3 9 n
.3

140

124

47

30° 30°

1

2

3

4

29

51
73

9516
3

12

M
12

1

2

3

4

114

12

M
12

80

12

10
11

813
1

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 9 350 400 Hydraulic Oil
2 3/8"G 3/8"G 9 350 400 Hydraulic Oil
3 3/8"G 3/8"G 9 350 400 Hydraulic Oil
4 3/8"G 3/8"G 9 350 400 Hydraulic Oil

21

51

84
111

11
0

80

47

15

M10 n.2

1

2

3

4

4

R85

70
°

14 n.3

40

60°60°

35°

R7
0

4

2

1 3

10
48

19
0 13

3

82

19

3

1

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 M22x1.5 M22x1.5 12 350 400 Hydraulic Oil
2 M22x1.5 M22x1.5 12 350 400 Hydraulic Oil
3 M22x1.5 M22x1.5 12 350 400 Hydraulic Oil
4 M22x1.5 M22x1.5 12 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D060040000 Cod. D145030100 



150

56

32,5

30
°

30°

12,5 N.2

125

45°

41

3 2

7515
0

40
10

1

99

150

3

1

41

75

74

24

100

30
2

18

58 1

3

2

4

4 2

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 1/2"G 1/2"G 12 350 400 Hydraulic Oil
3 1/2"G 1/2"G 12 350 400 Hydraulic Oil
4 1/2"G 1/2"G 12 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D060040300

114

8,5 N.4

96

R23,5

R22

31

2

4

75

84

118

15
6,

5

3

1

63

29

49

90
,5

70
,5

10
17

11
3

16
,5

12

1

2

3

4

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 1/2"G 1/2"G 12 350 400 Hydraulic Oil
3 3/8"G 3/8"G 10 350 400 Hydraulic Oil
4 3/8"G 3/8"G 10 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D060040400



120

M
8 N.4

19
19

21,5

21,5

62

1

2

3 4

84

14
6

90

120
84

14

M
16

25
67

46
,5

86

80 5

24
11

1

1

2

3

4

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 13 350 400 Hydraulic Oil
2 1/2"G 1/2"G 13 350 400 Hydraulic Oil
3 1/4"G 1/4"G 10 350 400 Hydraulic Oil
4 1/4"G 1/4"G 10 350 400 Hydraulic Oil

13
,5

45° 22

24
24

22

11
6

M10 n.4

18

45°

80

1 2

4

3

56,5 56,5

11
8

94

148

43

55 55

12
8

35

16
3

-0
,2

00
0

12

21

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 1/2"G 1/2"G 12 350 400 Hydraulic Oil
3 3/8"G 3/8"G 10 350 400 Hydraulic Oil
4 3/8"G 3/8"G 10 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D060040600 

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D060040700



185

30°

30°

30°

9 n.4

161

64 57

1

4 3

1

2

3

4
2

10

21

24
1,

5

99

150

25
,5

119

18
5

1

3

4

2

42
75

,510
6,

513
4,

5

3/8"G

22
1"G

1
2

3

4

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 16 350 400 Hydraulic Oil
2 3/4"G 3/4"G 20 350 400 Hydraulic Oil
3 3/8"G 3/8"G 10 350 400 Hydraulic Oil
4 1/2"G 1/2"G 12 350 400 Hydraulic Oil

31
45

22

23
9

55

1

3

1 3
2

R140

13 n.8

50

22,5°

45° 45°

R125

R97,5

3

2

1

4

152

20
54

12
8

85

55
45

120

4

2

3

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 16 350 400 Hydraulic Oil
2 1/2"G 1/2"G 16 350 400 Hydraulic Oil
3 3/4"G 3/4"G 16 350 400 Hydraulic Oil
4 3/8"G 3/8"G 16 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D085040200 

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D085040400



33

235

40° 45°
15

°

M12 n.3

13 n.5

200

5°

36° 36°

90
72°

72°

4

32

1

12 16

17
4

22

10
1,

5

1"G

15

4

1

1

17
14

0

51
,5 99

,5

35

120

31
4

120
156

4

3

2
1

3

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 12 350 400 Hydraulic Oil
2 1"G 1"G 22 350 400 Hydraulic Oil
3 3/8"G 3/8"G 20 n.2 350 400 Hydraulic Oil
4 1/2"G 1/2"G 12 350 400 Hydraulic Oil

150

95
62

45° 45°

15

115

7,5

40
13

9

3020
5,

5

25

80
15

25

32

57

120

50

M10 n.4

82

10
7

1

2

3

4

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 14 350 400 Hydraulic Oil
2 1/2"G 1/2"G 14 350 400 Hydraulic Oil
3 1/2"G 1/2"G 14 350 400 Hydraulic Oil
4 1/2"G 1/2"G 14 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D085040500 

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D085040600



220

M12 n.4

200

45° 45°

1

2

3 4

50

119

86
11

90

32
0

19
7

87

156
120

1

3

13 4

44
,5

11
3,

5

80

14
5

36

80

30

21

M10 n.4

1"G

1

2

3

4

4
1 2

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 20 350 400 Hydraulic Oil
2 1"G 1"G 24 350 400 Hydraulic Oil
3 3/4"G 3/4"G 20 350 400 Hydraulic Oil
4 3/4"G 3/4"G 20 350 400 Hydraulic Oil

M10x1.5

95
62

45°45°

1

2

3 4

35
89

58
12

5

40

22
215

6

20

15

1
2

3

4

30

50

45

10
0

10

150

120

116

M10
 n.4

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 350 400 Hydraulic Oil
2 1/2"G 1/2"G 14 350 400 Hydraulic Oil
3 3/4"G 3/4"G 18 350 400 Hydraulic Oil
4 3/4"G 3/4"G 18 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D085040800 

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D085041100



53
10

169

50

102

16
7

51 39

74

10
7 13

7

98
174

1

4

3
2

30

80

24
2

M10 n.4

1"G

27

270

120

235

30
°

30°

2

3
4

1

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 20 350 400 Hydraulic Oil
2 1"G 1"G 20 350 400 Hydraulic Oil
3 3/4"G 3/4"G 15 350 400 Hydraulic Oil
4 1/2"G 1/2"G 12 350 400 Hydraulic Oil

80

170

5 1546
,5

M
10

 n
.4

84
15

2,
5

41
12

2,
5

30

M42x2

37

1

3

2

4

93
50

24
3,

5
175 -0,200

-0,100

215

17
3,

5

182

3

1

270

5558

M12 n.4

250

10
54 3

1

2

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" 1/4 G 1" 1/4 G 30 350 400 Hydraulic Oil
2 1" 1/4 G 1" 1/4 G 30 350 400 Hydraulic Oil
3 1"G 1"G 20 350 400 Hydraulic Oil
4 3/4"G 3/4"G 18 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D100040200 

DISTRIBUTORE ROTANTE 4 VIE / SWIVEL JOINT 4 WAYS 
Cod. D145040100



235

15

33

80

20
0

4

1 5

32

21
6

12

15
12

0

10 108

119,5

94
11

0

156

22

35
28

63

14
8

119

17
2

1 2

3

4

5

1
3

33
5

1216

165

40

4

5

1

1 5

5 5

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 16 350 400 Hydraulic Oil
2 1"G 1"G 22 350 400 Hydraulic Oil
3 1" 1/4 G 1" 1/4 G 20 n.2 350 400 Hydraulic Oil
4 1/2"G 1/2"G 12 350 400 Hydraulic Oil
5 1/2"G 1/2"G 12 350 400 Hydraulic Oil

220

M12x1.5

175

60

45°45°

3 45

20
7

123

104

44
1,

5

139

78

154
106

16

3

5

1

111
0

15
96

50

43
52

,5 10
1,

5

16
1

13
518

5

1

2

3

4
5

1 2

5 5

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" SAE 6000 1" SAE 6000 22 350 400 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 22 350 400 Hydraulic Oil
3 1/2"G 1/2"G 13 350 400 Hydraulic Oil
4 1/2"G 1/2"G 13 350 400 Hydraulic Oil
5 3/8"G 3/8"G 13 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 5 VIE / SWIVEL JOINT 5 WAYS 
Cod. D085050200 

DISTRIBUTORE ROTANTE 5 VIE / SWIVEL JOINT 5 WAYS 
Cod. D85050600



15°

35

R135

13 n.4

14
° 14°

28°

43
°

45°

45
°

R120
2

3

4 5

1

175

20
6

15
40

145
165

15

88

2

4

24 5

62
64

34
60

64

29
4

33
6

42

52 1

4

2

5

3

1

5 5

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 14 350 400 Hydraulic Oil
2 1"G 1"G 22 350 400 Hydraulic Oil
3 1"G 1"G 22 350 400 Hydraulic Oil
4 1"G 1"G 22 350 400 Hydraulic Oil
5 1"G 1"G 22 350 400 Hydraulic Oil

78
15

7,
5

40
11

6

20
2,

5

50

30
30

173
138

22

1

2

3

4

5

6,5

88

24
6

8

29
4

15

137

M
10

 n
.8

2

4

218,5

M12
 n.4

200

77

41° 41°

24
° 24°

5 4

3 2

1

5 5

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 18 350 400 Hydraulic Oil
2 3/4"G 3/4"G 18 350 400 Hydraulic Oil
3 3/4"G 3/4"G 18 350 400 Hydraulic Oil
4 1"G 1"G 22 350 400 Hydraulic Oil
5 1"G 1"G 22 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 5 VIE / SWIVEL JOINT 5 WAYS 
Cod. D100050000 

DISTRIBUTORE ROTANTE 5 VIE / SWIVEL JOINT 5 WAYS 
Cod. D100050100



137

160 -0,250
-0,100

30
50

174

220

22

43
87

14
6

65

11
4

1

3

5

2

4

21
3,

5

10

125 -0,200
0 8

17
9,

5
16

15

M
10

 n
.8

8080

4

2

220

13 n.4
R36

R38

200

29°

29° 45°

45°

1

2

3

4

5

5 5

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 14 350 400 Hydraulic Oil
2 3/8"G 3/8"G 14 350 400 Hydraulic Oil
3 1/2"G 1/2"G 14 350 400 Hydraulic Oil
4 1"G 1"G 22 350 400 Hydraulic Oil
5 1"G 1"G 22 350 400 Hydraulic Oil

60°

60
°

30°

30°

40

200

17 n.4

35
0

30
0

45°

45
°

1

2

3

4

5

31
8,

5

15

59
2

177

250

16
20

20
4

4

40

72

225

48

19
1

12
2,

5

26
0,

5

12

3

4

5

5 5

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 20 350 400 Hydraulic Oil
2 3/4"G 3/4"G 20 350 400 Hydraulic Oil
3 1" 1/2 SAE 6000 1" 1/2 SAE 6000 35 350 400 Hydraulic Oil
4 1" 1/2 SAE 6000 1" 1/2 SAE 6000 35 350 400 Hydraulic Oil
5 1" 1/2 SAE 6000 1" 1/2 SAE 6000 35 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 5 VIE / SWIVEL JOINT 5 WAYS 
Cod. D100050300 

DISTRIBUTORE ROTANTE 5 VIE / SWIVEL JOINT 5 WAYS 
Cod. D140050100



50°
85 85

53

33

300

270

11
5

11
5

45 150

2

45

3

20
10

28
4

12
1

43
3

164

10

2

4

2

70
18

5,
5

13
4

23
2,

5

242
169

55

240

1

2

3

4

5

4

5 5

ROTORE

1
2

STATORE

3
4 4

3
2
1

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 2" SAE 3000 2" SAE 3000 50 350 400 Hydraulic Oil
3 1" 1/2 SAE 6000 1" 1/2 SAE 6000 38 350 400 Hydraulic Oil
4 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
5 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil

12,5 n.4

190

165

45° 45°

30° 30
°

59

1

2

3

4

5

6

25
4,

5

10
227

19
1

90
130

M
10

 n
.4

14
68

30
15

40

145

34
50

50

59
50

50

1"G

18
M20x1.5

5

3

1

6

4

2

5

1
2
3
4

66

4
3

STATORE

2
1

ROTORE

5

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 300 350 Hydraulic Oil
2 3/8"G 3/8"G 10 300 350 Hydraulic Oil
3 3/8"G 3/8"G 10 300 350 Hydraulic Oil
4 3/8"G 3/8"G 10 300 350 Hydraulic Oil
5 3/8"G 3/8"G 10 300 350 Hydraulic Oil
6 3/8"G 3/8"G 10 300 350 Hydraulic Oil

DISTRIBUTORE ROTANTE 5 VIE / SWIVEL JOINT 5 WAYS 
Cod. D145050100 

DISTRIBUTORE ROTANTE 6 VIE / SWIVEL JOINT 6 WAYS 
Cod. D085060100



53

169

80
,5

10

174

10
19

6

5

2
27

1

27

1"G

10
5

16
6

72

39
13

6,
5

1 2

3
4 5

6

270

100

13
,5

 n
.6

120
235

30° 30°

185

3

61

5

2 4

5

1
2
3
4

66

4
3

STATORE

2
1

ROTORE

5

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G
20 350 400 Hydraulic Oil

2 1"G 1"G
3 3/4"G 3/4"G 15 350 400 Hydraulic Oil
4 3/4"G 3/4"G 15 350 400 Hydraulic Oil
5 1/2"G 1/2"G 12 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil

220

13 n.4

200

76

5°

26° 31
°

39°39
°

1

2

3 4

5 6

15

22
30 75

7

10 14

10
23

7,
5

19
8

22

5

3

1

50

29
73

12
2

51

95

15
4

125
160

174
140

6

4

2

1

3

5

5

1
2
3
4

66

4
3

STATORE

2
1

ROTORE

5

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 350 400 Hydraulic Oil
2 1/4"G 1/4"G 10 350 400 Hydraulic Oil
3 1/2"G 1/2"G 14 350 400 Hydraulic Oil
4 1/2"G 1/2"G 14 350 400 Hydraulic Oil
5 3/4"G 3/4"G 18 350 400 Hydraulic Oil
6 1"G 1"G 22 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 6 VIE / SWIVEL JOINT 6 WAYS 
Cod. D100060000 

DISTRIBUTORE ROTANTE 6 VIE / SWIVEL JOINT 6 WAYS 
Cod. D100060100



30° 30
°

220

M12 n.4

45° 45°

200

2

6

45

1

3

15
4

92

11

33
6

21
9

99,5

2

3

6

3 2 6

35
,5

10
5

16
7

71
,5

13
7

19
6

80

30

175

135

32

1

2

3

4

5

2
6 4

1

6

5

1
2
3
4

66

4
3

STATORE

2
1

ROTORE

5

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 20 350 400 Hydraulic Oil
2 1"G 1"G 20 350 400 Hydraulic Oil
3 3/4"G 3/4"G 16 350 400 Hydraulic Oil
4 3/4"G 3/4"G 16 350 400 Hydraulic Oil
5 1/2"G 1/2"G 12 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil

218

M
12 n.435 35

190

30
°30°

1 3

2 6

5 4

220
243

160

520
80

,5
23

626
5,

5

13
2

30
0

18
5,

5

1

2

4

5

6

3

2 6

105 105
110113
121,5

140

34
1

50
5

6

2

6 4

5

1
2
3
4

66

4
3

STATORE

2
1

ROTORE

5

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" 1/2 SAE 3000 1" 1/2 SAE 3000 38 300 350 Hydraulic Oil
2 3/8"G 3/8"G 10 300 350 Hydraulic Oil
3 1" 1/2 SAE 6000 1" 1/2 SAE 6000 38 300 350 Hydraulic Oil
4 1/2"G 1/2"G 13 300 350 Hydraulic Oil
5 1/2"G 1/2"G 13 300 350 Hydraulic Oil
6 3/4"G 3/4"G 20 300 350 Hydraulic Oil

DISTRIBUTORE ROTANTE 6 VIE / SWIVEL JOINT 6 WAYS 
Cod. D105060100 

DISTRIBUTORE ROTANTE 6 VIE / SWIVEL JOINT 6 WAYS 
Cod. D125060100



208

45°

16,5 n.16

45
°

28

175

22
,5

°

1 2

3

4

56

7

11
4,

5
15

23
6,

5

1 2
3

16
0

10
55

144

94

1
2 3 4

5

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 350 400 Hydraulic Oil
2 3/8"G 3/8"G 10 350 400 Hydraulic Oil
3 3/8"G 3/8"G 10 350 400 Hydraulic Oil
4 3/8"G 3/8"G 10 350 400 Hydraulic Oil
5 3/8"G 3/8"G 10 350 400 Hydraulic Oil
6 3/8"G 3/8"G 10 350 400 Hydraulic Oil
7 3/8"G 3/8"G 10 350 400 Hydraulic Oil

200

10,5 n.4

182
66

30
°30°

2

7

5

3

4

6

85

40
50

99

150

18
9

7,
5

2,
5

25
3

7

5

3

1

37
,5

79
12

116
3

58

10
0 14

2

30

105
144

30

12

46
,5

80

1

2

4

6

7

5

3

1

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 350 400 Hydraulic Oil
2 1/2"G 1/2"G 12 350 400 Hydraulic Oil
3 1/2"G 1/2"G 12 350 400 Hydraulic Oil
4 1/2"G 1/2"G 12 350 400 Hydraulic Oil
5 1/2"G 1/2"G 12 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil
7 1/2"G 1/2"G 12 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D060070100 

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D085070100



8
80

15
15

23
1

145

42
40

175

2

4

6

32

52

37
6

165

19
,5

25

74

10
2

16
6

13
4

19
8

38

1
2

3

4

5

6

7

R135

40

35

15
°

13 n.4

R120

45° 45°

1

2

4

6

5

3

7

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/4"G 1/4"G 8 350 400 Hydraulic Oil
2 1/4"G 1/4"G 8 350 400 Hydraulic Oil
3 1/2"G 1/2"G 14 350 400 Hydraulic Oil
4 1"G 1"G 22 350 400 Hydraulic Oil
5 1"G 1"G 22 350 400 Hydraulic Oil
6 1"G 1"G 22 350 400 Hydraulic Oil
7 1"G 1"G 22 350 400 Hydraulic Oil

219

50° 50°

10
° 10°

30° 30°

M12 n.4

200

45° 45°

1

7

3

52

6

4

99,5

50

85

14

135

36

26
5

37
7

2

4

6

35

175

91

53

15
4,

5

12
4,

521
2,

5

18
5 23

8,
5

138

28

M10 n.4

80

30

1

2

3

4

5

6

7

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 22 350 400 Hydraulic Oil
2 1"G 1"G 22 350 400 Hydraulic Oil
3 3/4"G 3/4"G 18 350 400 Hydraulic Oil
4 3/4"G 3/4"G 18 350 400 Hydraulic Oil
5 3/4"G 3/4"G 18 350 400 Hydraulic Oil
6 1/2"G 1/2"G 14 350 400 Hydraulic Oil
7 1/2"G 1/2"G 14 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D100070000 

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D100070200



30
° 30°

220

12,5 n.4

200

1

2

3

4

5

6

7

145
160

28

29
6

42
6

M
24

x1
.5

17
8

21

5

3

1

7

35 1

195

62
,5

14
7,

5

22
4

10
5

19
0

25
0

15 5

11
0

45

1

2

3

4

5
6

31

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
3 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
4 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
5 1/2"G 1/2"G 12 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil
7 1/2"G 1/2"G 12 350 400 Hydraulic Oil

290

13 n.6
20° 20°

20° 20
°

50° 50°

265

30°30°

1

2

3

67

3

5

117,5 117,5

50
50

35

50
50

35
0,

5
95

15
29

48
9,

5

41

1

3

5

7

80

30

177

49
,5

13
5

23
330

5,
5

88
,5

18
5

27
5

45

210

M10 n.8

1

2

3

4

5

6
7

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 20 350 400 Hydraulic Oil
2 1"1/4 G 1"1/4 G 10 350 400 Hydraulic Oil
3 1"1/4 G 1"1/4 G 10 350 400 Hydraulic Oil
4 1"1/4 G 1"1/4 G 10 350 400 Hydraulic Oil
5 1"1/4 G 1"1/4 G 10 350 400 Hydraulic Oil
6 1/2"G 3/4"G 10 350 400 Hydraulic Oil
7 1/2"G 1/2"G 10 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D110070100 

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D124070100



45°45°
40

20
0

350

17 n.4

300

12

3

4

56

7

3969
,5

217

60

154

10
0,

518
3

13
7,

5
22

927
5

175

2

4

1

1
2

3

4

5

6

7

15

250

11
9

16
32

1

49
4,

5

4

30

1 5

6

1

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 18 350 400 Hydraulic Oil
2 1/2"G 1/2"G 18 350 400 Hydraulic Oil
3 1/2"G 1/2"G 18 350 400 Hydraulic Oil
4 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
5 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
6 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
7 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil

22°22°

17 n.7

37,5° 37,5°

22,5° 22
,5

°

345

30°30
°

320

12 3

4 5

6 7

45

M
16 n.4

68

26 55

15
5

15 8

90

216

13
8

24
7

37
1

202

1
2

3

4

5

6

7

7 5
1

3

290 -0,300
-0,100

248

80

65
7,

5

18
3

46
3

1

3

5

7

76

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 M33x2 M33x2 24 350 400 Hydraulic Oil
2 M18x1.5 M18x1.5 12 350 400 Hydraulic Oil
3 M18x1.5 M18x1.5 12 350 400 Hydraulic Oil
4 1" 1/2 SAE 6000 1" 1/2 SAE 6000 38 350 400 Hydraulic Oil
5 1" 1/2 SAE 6000 1" 1/2 SAE 6000 38 350 400 Hydraulic Oil
6 1" 1/2 SAE 6000 1" 1/2 SAE 6000 38 350 400 Hydraulic Oil
7 1" 1/2 SAE 6000 1" 1/2 SAE 6000 38 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D125070100 

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D145070100



350

39°39
°

12° 12
°

27° 27°
17 n.4

300

1

6

4

27

5

3

41
2

16 4

13
6

8

55

1"G
245

60
3,

5

25

7

5

3

1

47
14

9
25

1
35

3

98
20

0
30

2

18
6

42

16
3,

5

25
 n.2

200

180
36

146 40

1

2

3

4

5

6

7

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 350 400 Hydraulic Oil
2 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 350 400 Hydraulic Oil
3 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 350 400 Hydraulic Oil
4 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 350 400 Hydraulic Oil
5 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 350 400 Hydraulic Oil
6 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 350 400 Hydraulic Oil
7 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 350 400 Hydraulic Oil

51°51°

290

27°27°

12
°12°

265

30°30°

1

2

3

45

6

7

19
4

19
4

50 50

11
4

12
4

225

57
7,

5

136 136

1

3

5

7

217

60
17

0
28

039
0

11
5

22
5

33
5

179
240

198

80

30 43
6

M
10

 n.
8

1

3

5

2

4

6

7

4
32

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" 1/2 G 1" 1/2 G 36 350 400 Hydraulic Oil
2 1" 1/2 G 1" 1/2 G 36 350 400 Hydraulic Oil
3 1" 1/2 G 1" 1/2 G 36 350 400 Hydraulic Oil
4 1" 1/2 G 1" 1/2 G 36 350 400 Hydraulic Oil
5 1" 1/2 G 1" 1/2 G 36 350 400 Hydraulic Oil
6 1" 1/2 G 1" 1/2 G 36 350 400 Hydraulic Oil
7 1" 1/2 G 1" 1/2 G 36 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D145070200 

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D145070300



370

27°27°

39°39
°

12° 12
°

17 n.6

330

30° 30°

1

2

3

45

6

7

25
6

50 50
25

6

16
4

12
4

68
7,

5

52
4

249

1

3

5

7

217

80

30
M

10
 n

.8

69
20

3
33

7
47

1

13
6

27
0

40
4

238
300

280

1

3

5

2

4

6

7

432

4
3
2
1

5
6
77

6
5

ROTORE
1
2

STATORE

3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 2" G 2" G 47 350 400 Hydraulic Oil
2 2" G 2" G 47 350 400 Hydraulic Oil
3 2" G 2" G 47 350 400 Hydraulic Oil
4 2" G 2" G 47 350 400 Hydraulic Oil
5 2" G 2" G 47 350 400 Hydraulic Oil
6 2" G 2" G 47 350 400 Hydraulic Oil
7 2" G 2" G 47 350 400 Hydraulic Oil

13 n.8

45°

45°

22,5°

20

R1
25

R97,5

1
2

3

4

5

6

7

8

31
76

12
116

6

55

10
0 14

5 19
0

16

32
9

1
2

3
4

5 6

7
8

120

15
0

20

152
120

22

55

2

4

6

8

8

7

6

5

1

2

3

4

STATORE

4

3

2

1

5

6

7

8

ROTORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 16 350 400 Hydraulic Oil
2 1/2"G 3/4"G 12 350 400 Hydraulic Oil
3 3/4"G 3/4"G 16 350 400 Hydraulic Oil
4 1/2"G 3/4"G 12 350 400 Hydraulic Oil
5 3/4"G 1/2"G 16 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil
7 3/4"G 1/2"G 16 350 400 Hydraulic Oil
8 1/2"G 1/2"G 12 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 7 VIE / SWIVEL JOINT 7 WAYS 
Cod. D195070000 

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 
Cod. D085080000



298
265

60° 60°

10
0

185

13,5 n.6

2

1

4

7

36

8

5

36

71
10

0

12
715

4

18
1

24
1

21
0

10

140

29
,5

30

1 1

2

3

4
5

6

7

8

180

27
3

51
10

160

36
0

8

7

6

5

1

2

3

4

STATORE

4

3

2

1

5

6

7

8

ROTORE
1

1
POS. STATORE

stator
ROTORE

rotor DN [mm]
PRESSIONE LAVORO

[bar]
working pressure

[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G (n.3) 24 350 400 Hydraulic Oil
2 3/4"G 3/4"G 20 350 400 Hydraulic Oil
3 1/2"G 1/2"G 16 350 400 Hydraulic Oil
4 1/2"G 1/2"G 16 350 400 Hydraulic Oil
5 1/2"G 1/2"G 16 350 400 Hydraulic Oil
6 1/2"G 1/2"G 16 350 400 Hydraulic Oil
7 3/4"G 3/4"G 20 350 400 Hydraulic Oil
8 3/4"G 3/4"G 20 350 400 Hydraulic Oil

149

15 15

75 75

7 7

29
6

10
79

41
7,

5

8

6

4

2

637

57
,5 93

,5

50
137
174

30

M10 n.8

22

30
12

9,
5 16

5,
5

19
8,

5

22
7,

5

25
6,

5

28
5,

5

1

2

3

4

5

6

7

8

8 4 7

220

45° 45
°

13 n.4

200

7
4

8

1

5
2

6

3

8

7

6

5

1

2

3

4

STATORE

4

3

2

1

5

6

7

8

ROTORE
POS. STATORE

stator
ROTORE

rotor DN [mm]
PRESSIONE LAVORO

[bar]
working pressure

[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 20 350 400 Hydraulic Oil
2 1"G 1"G 20 350 400 Hydraulic Oil
3 1"G 1"G 20 350 400 Hydraulic Oil
4 1"G 1"G 20 350 400 Hydraulic Oil
5 3/4"G 3/4"G 16 350 400 Hydraulic Oil
6 3/4"G 3/4"G 16 350 400 Hydraulic Oil
7 3/4"G 3/4"G 16 350 400 Hydraulic Oil
8 3/4"G 3/4"G 16 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 
Cod. D100080100 

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 
Cod. D100080200



25

13 n.4

240

22
,5

°

110

40

25

25

200

45°

45
°

1

3

24

5

7 6

8

29
0

88
42

149

166

44
8,

5

16

38

18

10
7,

5 637

8

6

4

2

15
58

23

165

93
15

9,
5 21

5,
5

12
818

7,
524

3,
5

1

2

3

4

5

6

7

8

5
2

6

8

7

6

5

1

2

3

4

STATORE

4

3

2

1

5

6

7

8

ROTORE
POS. STATORE

stator
ROTORE

rotor DN [mm]
PRESSIONE LAVORO

[bar]
working pressure

[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 20 350 400 Hydraulic Oil
2 1"G 1"G 20 350 400 Hydraulic Oil
3 1"G 1"G 20 350 400 Hydraulic Oil
4 1"G 1"G 20 350 400 Hydraulic Oil
5 3/4" 3/4" 16 350 400 Hydraulic Oil
6 3/4" 3/4" 16 350 400 Hydraulic Oil
7 3/4" 3/4" 16 350 400 Hydraulic Oil
8 3/4" 3/4" 16 350 400 Hydraulic Oil

45° 45°

40
25

R120

13 n.4

R100

7

3

6

2

5

1

8

4

88

165

19
,8

27
2

138

50
38

8,
5

374

8

6

4

2

23
90

15
6,

5 21
2,

5

55
12

518
4,

524
0,

5

166

149

30

11
5,

5

Ø25

2

4

6

8

1

3

5

7

263

8

7

6

5

1

2

3

4

STATORE

4

3

2

1

5

6

7

8

ROTORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 22 350 400 Hydraulic Oil
2 1"G 1"G 22 350 400 Hydraulic Oil
3 1"G 1"G 22 350 400 Hydraulic Oil
4 1"G 1"G 22 350 400 Hydraulic Oil
5 3/4"G 3/4"G 18 350 400 Hydraulic Oil
6 3/4"G 3/4"G 18 350 400 Hydraulic Oil
7 3/4"G 3/4"G 18 350 400 Hydraulic Oil
8 3/4"G 3/4"G 18 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 
Cod. D100080300 

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 
Cod. D100080500



18 N.4

22
5

40
°

44° 53°

53
°

53°

22°

50

45° 45°

19
8

8

7
6

5

4

3

2

1

24
19

2

48
0,

5

29
8

138

11
4,

5
12

8

16

M
20

x1
.5

12

30

70

2

4

6

8

8
2

16

150

200

16
6,

5

94

58

13
0,

5 19
7,

5

22
3,

5

24
9,

5

27
5,

5

55

1

2

3

4

5

6

7
8

321

8

7

6

5

1

2

3

4

STATORE

4

3

2

1

5

6

7

8

ROTORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" SAE 6000 1" SAE 6000 24 350 400 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 24 350 400 Hydraulic Oil
3 1" SAE 6000 1" SAE 6000 24 350 400 Hydraulic Oil
4 1" SAE 6000 1" SAE 6000 24 350 400 Hydraulic Oil
5 1/2"G 1/2"G 16 350 400 Hydraulic Oil
6 1/2"G 1/2"G 16 350 400 Hydraulic Oil
7 M16x1.5 M16x1.5 16 350 400 Hydraulic Oil
8 1/2"G 1/2"G 16 350 400 Hydraulic Oil

230

14 n.4

200
88

5

67

8

1

2

3

4

12
1

14
14 20

135

11
0

180

32
0

46
2,

5

14 n.2

110

5

5

7

125

4063

8610
914
1,

5

18
6,

523
1 27

5,
5

18

1
2

3
4

5

6

7

8

6

8

7

6

5

1

2

3

4

STATORE

4

3

2

1

5

6

7

8

ROTORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 1/2"G 1/2"G 12 350 400 Hydraulic Oil
3 1/2"G 1/2"G 12 350 400 Hydraulic Oil
4 1/2"G 1/2"G 12 350 400 Hydraulic Oil
5 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
6 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
7 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
8 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 
Cod. D105080100 

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 
Cod. D105080200



25 10
0

45
°

45°

13 n.4

270

128

240

2
5

1

8
4

7

3

6

141,5

25

35

83

45

43
4,

5

121

15
921

726
9

12
1 19

1
24

3

189

1

2

3

4

5

6

8

9

56

187

190

12
29

7
95

40

18

85

8

5

3

1

8

7

6

5

1

2

3

4

STATORE

4

3

2

1

5

6

7

8

ROTORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
3 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
4 1" SAE 6000 1" SAE 6000 25 350 400 Hydraulic Oil
5 3/4"G 3/4"G 18 350 400 Hydraulic Oil
6 3/4"G 3/4"G 18 350 400 Hydraulic Oil
7 3/4"G 3/4"G 18 350 400 Hydraulic Oil
8 3/4"G 3/4"G 18 350 400 Hydraulic Oil

270

M12 n.4

250

100

45° 45°

1 2

34

5

6

7

8

122

50

1034
38

6,
5

30

12
5

32
8

7

5

3

1

80

225
180

165

46

77

30

M
10 n.4

10
717

2
25

3

14
0

21
3 28

8,
5

1

3

2

4

5

6

7

8

8

7

6

5

1

2

3

4

STATORE

4

3

2

1

5

6

7

8

ROTORE

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 10 350 400 Hydraulic Oil
2 3/8"G 3/8"G 10 350 400 Hydraulic Oil
3 1/2"G 1/2"G 12 350 400 Hydraulic Oil
4 3/4"G 3/4"G 16 350 400 Hydraulic Oil
5 3/4"G 3/4"G 16 350 400 Hydraulic Oil
6 1"1/4 G 1"1/4 G 30 350 400 Hydraulic Oil
7 1"G 1"G 20 350 400 Hydraulic Oil
8 1"G 1"G 20 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 
Cod. D110080200 

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 
Cod. D145080100



150

15° 15°

23
°

23
°

23°

23°

15
°

15
°15°

15°

23° 23°

18
° °81

11,5° 11,5°

R8
6

R88,5

   M12 n.6 holes
   screw depht 16mm

22
5

218

19
2,

5
23

242

36
50

50

M12 n.6
screw depht 13mm

22 43
,5 65

87

13
0 15

1,
5 17

3

10
8,

3

8

7

6
5 4

3

2

1

1
2

3

4
5
6
7

8

8

7

6

5

1

2

3

4

STATORE

4

3

2

1

5

6

7

8

ROTORE
POS. STATORE

stator
ROTORE

rotor DN [mm]
PRESSIONE LAVORO

[bar]
working pressure

[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/8"G 3/8"G 16 350 400 Hydraulic Oil
2 3/8"G 3/8"G 16 350 400 Hydraulic Oil
3 3/8"G 3/8"G 16 350 400 Hydraulic Oil
4 3/8"G 3/8"G 16 350 400 Hydraulic Oil
5 3/8"G 3/8"G 12 350 400 Hydraulic Oil
6 3/8"G 3/8"G 12 350 400 Hydraulic Oil
7 3/8"G 3/8"G 12 350 400 Hydraulic Oil
8 3/8"G 3/8"G 12 350 400 Hydraulic Oil

25°25°

15
° 15°

30° 30°

32° 32
°

13
 n.4

235

30
° 30°

200

1

6
7

8

9

5

43

2

4 12
50

14
814
8

50

180
125

135

9

7

5

3

1

5432

80

30

35
,510

3,
517

5,
522

827
6,

5

67
,5

13
9,

5 20
5

25
1

71

37

M
10 n.8

160

1

2

3

4

5

6
7

8

9

8954

4

3

2
1

5

6
7

8

99

ROTORE

8

7
6

5

1
2

3

4

STATORE POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 19 350 400 Hydraulic Oil
2 1"G 1"G 25 350 400 Hydraulic Oil
3 1"G 1"G 25 350 400 Hydraulic Oil
4 1"G 1"G 25 350 400 Hydraulic Oil
5 1"G 1"G 25 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil
7 1/2"G 1/2"G 12 350 400 Hydraulic Oil
8 1/2"G 1/2"G 12 350 400 Hydraulic Oil
9 3/4"G 3/4"G 19 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 8 VIE / SWIVEL JOINT 8 WAYS 
Cod. D190080000 

DISTRIBUTORE ROTANTE 9 VIE / SWIVEL JOINT 9 WAYS 
Cod. D105090100



215

12,5 n.4

195

45° 45°

37°37
°

6
3

8

4

5

1

7

2

9

18
7,

5
50

25
7,

5
1233

110

30
7,

5

5

6
7

8

38 62
86

11
013
6,

5
16

5,
5

19
1,

521
4

175

110

M
10 n.4

80

30 1

2

3

4
5

6

7

8

9

4

3

2
1

5

6
7

8

99

ROTORE

8

7
6

5

1
2

3

4

STATORE POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 1/2"G 1/2"G 12 350 400 Hydraulic Oil
3 1/2"G 1/2"G 12 350 400 Hydraulic Oil
4 1/2"G 1/2"G 12 350 400 Hydraulic Oil
5 3/4"G 3/4"G 18 350 400 Hydraulic Oil
6 3/4"G 3/4"G 18 350 400 Hydraulic Oil
7 1/4"G 1/4"G 8 350 400 Hydraulic Oil
8 1/4"G 1/4"G 8 350 400 Hydraulic Oil
9 3/8"G 3/8"G 12 350 400 Hydraulic Oil

290

26° 26°

12
° 12°

31° 31°
62° 62°

13 n.6

265

7

8

9

2
3

1

4

5

6

180

19
1

25

91

14
1

12

194

40
1

59
3,

5

42

8

76

5

9

7

5

3

1

35
,5

96
17

2,
527

1
35

9

64
,5 13

0

22
1,

5

32
0

16
8,

5

135

210

210
25 n.2

2987

1

3

5

2

4

6

7

9

8

4

3

2
1

5

6
7

8

99

ROTORE

8

7
6

5

1
2

3

4

STATORE POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2" SAE 3000 1/2" SAE 3000 16 350 400 Hydraulic Oil
2 1/2" SAE 3000 1/2" SAE 3000 16 350 400 Hydraulic Oil
3 3/4" SAE 6000 3/4" SAE 6000 18 350 400 Hydraulic Oil
4 3/4" SAE 6000 3/4" SAE 6000 18 350 400 Hydraulic Oil
5 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil
6 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil
7 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil
8 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil
9 3/4" SAE 3000 3/4" SAE 3000 18 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 9 VIE / SWIVEL JOINT 9 WAYS 
Cod. D105090200 

DISTRIBUTORE ROTANTE 9 VIE / SWIVEL JOINT 9 WAYS 
Cod. D145090100



260

26
022
0

220

30°

30°

30
°

30
°30°

30°

30
°

30
°

12,5 n.4

20
180

20

3

4

10

5

67

8

9

1

2

53

24
152

20

33
0,

5

35
71

10
714

318
2

89
12

5 16
1 20

3

20

9

5

6

4

3

10

7

8

1

2

4321

150

40
12

54

23
0

116

2

1

8

7

10

651043

1

4
3
2
1

5
6
7
8
9

10 10

STATORE ROTORE

9
8
7
6
5

2
3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/4"G 1/4"G 10 350 400 Hydraulic Oil
2 1/4"G 1/4"G 10 350 400 Hydraulic Oil
3 1/4"G 1/4"G 10 350 400 Hydraulic Oil
4 1/4"G 1/4"G 10 350 400 Hydraulic Oil
5 1/4"G 1/4"G 10 350 400 Hydraulic Oil
6 1/4"G 1/4"G 10 350 400 Hydraulic Oil
7 1/4"G 1/4"G 10 350 400 Hydraulic Oil
8 1/4"G 1/4"G 10 350 400 Hydraulic Oil
9 1/2"G 1/2"G 14 350 400 Hydraulic Oil
10 1/2"G 1/2"G 14 350 400 Hydraulic Oil

220

M12 n.4

20° 20°

35
° 35°

20°20°55° 55°

200

1 2

3 5
69

10

4 8

7

20
50

42
9,

5

15
80

33
4,

5

100

135

9

7

5

3

1

6539

175
135

29
,5

92
,515

4,
521

3,
527

1,
5

61
12

4 18
4

24
3 29

9

30

80

30

40

1

2

3

4
5

6
7

8
9

10

87265

1

4
3
2
1

5
6
7
8
9
10 10

STATORE ROTORE

9
8
7
6
5

2
3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 18 350 400 Hydraulic Oil
2 3/4"G 3/4"G 18 350 400 Hydraulic Oil
3 3/4"G 3/4"G 18 350 400 Hydraulic Oil
4 3/4"G 3/4"G 18 350 400 Hydraulic Oil
5 1/2"G 1/2"G 14 350 400 Hydraulic Oil
6 1/2"G 1/2"G 14 350 400 Hydraulic Oil
7 1/2"G 1/2"G 14 350 400 Hydraulic Oil
8 1/2"G 1/2"G 14 350 400 Hydraulic Oil
9 3/8"G 3/8"G 10 350 400 Hydraulic Oil
10 3/8"G 3/8"G 10 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 10 VIE / SWIVEL JOINT 10 WAYS 
Cod. D100100100 

DISTRIBUTORE ROTANTE 10 VIE / SWIVEL JOINT 10 WAYS 
Cod. D105100100



60

18

M
10 n.8

81
14

7
24

3
33

9
42

6

53
10

9
19

5
29

1
38

7

30

1

3

5

7

9

2

4

6

8

10

2

1

86

4

10

50 50

60
2,

5

12
0 15

183

235

5050

45
3

10

8

6

4

2

7
9

10

4
6

34°

45°

45
°

33
°

34°

45
°

45°

33°

290

M16 n.6

30°30°

265

8

6

4
10

9

7

5

3 2 1

1

4
3
2
1

5
6
7
8
9

10 10

STATORE ROTORE

9
8
7
6
5

2
3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 16 350 400 Hydraulic Oil
2 1/2"G 1/2"G 16 350 400 Hydraulic Oil
3 1/2"G 1/2"G 16 350 400 Hydraulic Oil
4 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
5 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
6 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
7 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
8 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
9 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
10 3/4"G 3/4"G 16 350 400 Hydraulic Oil

40°40°

10
° 10°

20° 20°

30° 30
°30 30

400

45° 45°

375

3
4

5

67

8

9

10
1-2

267

12
8 4

270
199

70
7

25

16

47
8

18

10

7

4

1

4

3

2

10

9

1

41
16

4

73
,5 11

8
20

9

25
4,

5
29

9,
5

34
4,

5 38
9,

5

43
4,

5

340

1
2

3
4

5

6
7

8

9
10

1

4
3
2
1

5
6
7
8
9
10 10

STATORE ROTORE

9
8
7
6
5

2
3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 1" 1/2 SAE 6000 1" 1/2 SAE 6000 31 350 400 Hydraulic Oil
3 1" 1/2 SAE 6000 1" 1/2 SAE 6000 31 350 400 Hydraulic Oil
4 1" 1/2 SAE 6000 1" 1/2 SAE 6000 31 350 400 Hydraulic Oil
5 1" 1/2 SAE 6000 1" 1/2 SAE 6000 31 350 400 Hydraulic Oil
6 1" 1/2 SAE 6000 1" 1/2 SAE 6000 31 350 400 Hydraulic Oil
7 1" 1/2 SAE 6000 1" 1/2 SAE 6000 31 350 400 Hydraulic Oil
8 1" 1/2 SAE 6000 1" 1/2 SAE 6000 31 350 400 Hydraulic Oil
9 1" 1/2 SAE 6000 1" 1/2 SAE 6000 31 350 400 Hydraulic Oil

10 1" 1/2 SAE 6000 1" 1/2 SAE 6000 31 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 10 VIE / SWIVEL JOINT 10 WAYS 
Cod. D145100200 

DISTRIBUTORE ROTANTE 10 VIE / SWIVEL JOINT 10 WAYS 
Cod. D170100100



17°
20°

34
°

M12 n.4

155

41
°

8°

37°

25°

25
°

5°5°

2
3

0

5

41

6

9

8

10

7

50

85

50 6490

Ø176

130

3816
48

76
29

88
55

40

24
92

88
38

40

33

50
215

0

1

2 3

4

6

7

9

2 0

6
4 3

5

5

10

8

1
D1

D2

60

5
10

6
36

4

20
,5

178

50
7,

5

25

M
12

 n
.2

68

18

3

0

4

6

9

7

0

3

2

4

5

4
3
2
1

5
6
7
8
9

10

00

ROTORESTATORE

10
9
8
7
6
5

1
2
3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

0 1/2"G 1/2"G 12 350 400 Hydraulic Oil
1 1/4"G 1/4"G 8 350 400 Hydraulic Oil
2 1/4"G 1/4"G 8 350 400 Hydraulic Oil
3 1/2"G 1/2"G 12 350 400 Hydraulic Oil
4 3/4" SAE 3000 3/4" SAE 3000 18 350 400 Hydraulic Oil
5 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 350 400 Hydraulic Oil
6 1" 1/2 SAE 3000 1" 1/2 SAE 3000 36 350 400 Hydraulic Oil
7 M14x1.5 M14x1.5 12 350 400 Hydraulic Oil
8 M14x1.5 M14x1.5 12 350 400 Hydraulic Oil
9 M14x1.5 M14x1.5 12 350 400 Hydraulic Oil
10 M14x1.5 M14x1.5 12 350 400 Hydraulic Oil

218

10,5 n.4

20°
20°

20°

20° 20°

20
°

40° 40°

200

5
43

1 2

6
7

8 9 10
11

12

102,5

22
4,

5
50

39
4

35

4 11

69

11

9

7

5

3

1

43 5

39
93

14
518

422
025

6

66

12
0 16

6 20
2 23

8 27
4

165

125

160

124

30 45

80

301

3

5

7

9

11

2

4

6

8

10

12

11

1012

2

4

4
3
2
1

5
6
7
8
9
10
11
1212

11

ROTORESTATORE

10
9
8
7
6
5

1
2
3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 18 350 400 Hydraulic Oil
2 3/4"G 3/4"G 18 350 400 Hydraulic Oil
3 3/4"G 3/4"G 18 350 400 Hydraulic Oil
4 3/4"G 3/4"G 18 350 400 Hydraulic Oil
5 1/2"G 1/2"G 12 350 400 Hydraulic Oil
6 1/4"G 1/4"G 6 350 400 Hydraulic Oil
7 1/4"G 1/4"G 6 350 400 Hydraulic Oil
8 1/4"G 1/4"G 6 350 400 Hydraulic Oil
9 1/4"G 1/4"G 6 350 400 Hydraulic Oil
10 1/4"G 1/4"G 6 350 400 Hydraulic Oil
11 1/4"G 1/4"G 6 350 400 Hydraulic Oil
12 1/4"G 1/4"G 6 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 11 VIE / SWIVEL JOINT 11 WAYS 
Cod. D125110100 

DISTRIBUTORE ROTANTE 12 VIE / SWIVEL JOINT 12 WAYS 
Cod. D100120100



12,5 n.4

16
°

21° 21
°

16°

250

45° 45°
40° 40°

32° 32°

11
8

9

3
4

6

5

7

2
1

15
0

50

149

36
0

414 64

20
47

1,
5

230

10

7

4

1

37
,597

,5
16

2
25

5

77
,5

13
9

22
0

32
5

29
0

18
8

11
7,

5

57
,5

199
159

180

1

2
3

4
5

6
7

8

9

10

11

12

4
3
2
1

5
6
7
8
9
10
11
1212

11

ROTORESTATORE

10
9
8
7
6
5

1
2
3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/4"G 1/4"G 6 350 400 Hydraulic Oil
2 1/4"G 1/4"G 6 350 400 Hydraulic Oil
3 1/4"G 1/4"G 6 350 400 Hydraulic Oil
4 1/4"G 1/4"G 6 350 400 Hydraulic Oil
5 1/4"G 1/4"G 6 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil
7 1/2"G 1/2"G 12 350 400 Hydraulic Oil
8 3/4"G 3/4"G 18 350 400 Hydraulic Oil
9 1"G 1"G 25 350 400 Hydraulic Oil
10 1"G 1"G 25 350 400 Hydraulic Oil
11 1"G 1"G 25 350 400 Hydraulic Oil
12 1"G 1"G 25 350 400 Hydraulic Oil

250

12,5 n.4

30°30°

30
° 30°

30° 30°

30° 30
°

230

11
5

1

4

2

8
12

6

10

3

9

7

39
2,

5

80

30

80
12

4

205

50
1

49
,573

,59912
5 15
1 17

7 20
3 22
9 25

5 28
131
435

4

16
6,

5
50

160

192
158

1

2

3

4

5 6

7

8
9

10

11

12

4
3
2
1

5
6
7
8
9
10
11
1212

11

ROTORESTATORE

10
9
8
7
6
5

1
2
3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 1/2"G 1/2"G 12 350 400 Hydraulic Oil
3 3/4"G 3/4"G 19 350 400 Hydraulic Oil
4 3/4"G 3/4"G 19 350 400 Hydraulic Oil
5 3/4"G 3/4"G 19 350 400 Hydraulic Oil
6 3/4"G 3/4"G 19 350 400 Hydraulic Oil
7 3/4"G 3/4"G 19 350 400 Hydraulic Oil
8 3/4"G 3/4"G 19 350 400 Hydraulic Oil
9 3/4"G 3/4"G 19 350 400 Hydraulic Oil
10 3/4"G 3/4"G 19 350 400 Hydraulic Oil
11 1"G 1"G 25 350 400 Hydraulic Oil
12 1"G 1"G 25 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 12 VIE / SWIVEL JOINT 12 WAYS 
Cod. D124120100 

DISTRIBUTORE ROTANTE 12 VIE / SWIVEL JOINT 12 WAYS 
Cod. D124120200



14°
32°

44°

37
°

23
°

23°

20°
18°

18
°

34
°

40°

30°

22
0

13
 n

.4

M12
 n.

2

50

270
240

1

234

5

6 7

8

9
10 11

12

35
,5

29
,8

61
47

,9
40

,9
77

,9
37

34
2

20

170

190

199

89

10

Dr1

Dr2

8

9
10

5
6

1
2

3
4

7

12

8

9

10 11 12

11

20
,6

30
46

,5
57

,4
39

,9
49

,9
68

,7

45
6,

2

250

175

Dr2

Dr1

8
9

10

5

6

1
2

3
4

7

11

12

11

12 7 1

2

3

4
3
2
1

5
6
7
8
9
10
11
1212

11

ROTORESTATORE

10
9
8
7
6
5

1
2
3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

8 1/4"G 1/4"G 4 350 400 Hydraulic Oil
9 M10x1 M10x1 4 350 400 Hydraulic Oil
10 M10x1 M10x1 4 350 400 Hydraulic Oil
5 1/2"G 1/2"G 13 350 400 Hydraulic Oil
6 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
1 1/4"G 1/4"G 8 350 400 Hydraulic Oil
2 3/8"G 3/8"G 10 350 400 Hydraulic Oil
3 3/8"G 3/8"G 10 350 400 Hydraulic Oil
4 1/2"G 1/2"G 13 350 400 Hydraulic Oil
7 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
11 1"1/4G 1"1/4G 13 350 400 Water
12 1/2"G 1/2"G 13 350 400 Water

290

42,5°42,5°

10
° 10°

20° 15°

32
,5

°35°

M16 n.6

265

30° 30°

2
9

4

7

68

5

3

1

11

10 12

33
50 50

33

125 125

37

95
15

50
1

62
4,

5

41

12

10

8

6

4

2

32
13

8 23
2

32
4 38

9 44
7

82
18

5
27

936
041

847
6

177

30

80

M10 n.8

222
179

1

2

3

4

5

6

7

8
9

10
11

12

4
3
2
1

5
6
7
8
9
10
11
1212

11

ROTORESTATORE

10
9
8
7
6
5

1
2
3
4

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 16 350 400 Hydraulic Oil
2 1"1/2G 1"1/2G 32 350 400 Hydraulic Oil
3 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
4 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
5 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
6 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
7 1"G 1"G 22 350 400 Hydraulic Oil
8 1/2"G 1/2"G 12 350 400 Hydraulic Oil
9 1/2"G 1/2"G 12 350 400 Hydraulic Oil
10 1/2"G 1/2"G 12 350 400 Hydraulic Oil
11 1/2"G 1/2"G 12 350 400 Hydraulic Oil
12 1/2"G 1/2"G 12 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 12 VIE / SWIVEL JOINT 12 WAYS 
Cod. D125120100 

DISTRIBUTORE ROTANTE 12 VIE / SWIVEL JOINT 12 WAYS 
Cod. D145120100



220

20

13 n.4
200

1

2 3

4

9

7

11

12

1

5

6
8

10

39
3

50

175

53
6,

5

95

8012

10

8

6

4

2

60
59

52
52

52
52

60
55

52
52

52

M
10

 n
.4

25

60

138

46

76
15

80

30

1

2 3

4 5

6 7

8 9

10 11

12 13

12
11
10
9
8
7
6
5

1
2
3
4

1313

4
3
2
1

5
6
7
8
9
10

STATORE ROTORE

11
12

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 16 350 400 Hydraulic Oil
2 3/4"G 3/4"G 16 350 400 Hydraulic Oil
3 3/4"G 3/4"G 16 350 400 Hydraulic Oil
4 3/4"G 3/4"G 16 350 400 Hydraulic Oil
5 1/2"G 1/2"G 12 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil
7 1/2"G 1/2"G 12 350 400 Hydraulic Oil
8 1/2"G 1/2"G 12 350 400 Hydraulic Oil
9 1/2"G 1/2"G 12 350 400 Hydraulic Oil
10 1/2"G 1/2"G 12 350 400 Hydraulic Oil
11 1/2"G 1/2"G 12 350 400 Hydraulic Oil
12 1/2"G 1/2"G 12 350 400 Hydraulic Oil
13 1/2"G 1/2"G 12 350 400 Hydraulic Oil

200

15
0

150

25 13 n.4

1
9

2

10

3
11

4

12

13

8

7 6

5

10 6

170

89 11
313
716

1

18
5

20
923

3

25
728

5 31
9 35

3

38
7

20

115

12
11

10
9

8
7

6

5

4
3

2

1

110

50
20

2

69
,5

45
7

12
11
10
9
8
7
6
5

1
2
3
4

1313

4
3
2
1

5
6
7
8
9
10

STATORE ROTORE

11
12

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 M33x2 M33x2 20 350 400 Hydraulic Oil
2 M33x2 M33x2 20 350 400 Hydraulic Oil
3 M33x2 M33x2 20 350 400 Hydraulic Oil
4 M33x2 M33x2 20 350 400 Hydraulic Oil
5 M14x1.5 M14x1.5 10 350 400 Hydraulic Oil
6 M14x1.5 M14x1.5 10 350 400 Hydraulic Oil
7 M14x1.5 M14x1.5 10 350 400 Hydraulic Oil
8 M14x1.5 M14x1.5 10 350 400 Hydraulic Oil
9 M14x1.5 M14x1.5 10 350 400 Hydraulic Oil
10 M14x1.5 M14x1.5 10 350 400 Hydraulic Oil
11 M14x1.5 M14x1.5 10 350 400 Hydraulic Oil
12 M14x1.5 M14x1.5 10 350 400 Hydraulic Oil
13 M14x1.5 M14x1.5 10 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 13 VIE / SWIVEL JOINT 13 WAYS 
Cod. D100130000 

DISTRIBUTORE ROTANTE 13 VIE / SWIVEL JOINT 13 WAYS 
Cod. D100130100



57
74

55
49

53
10

7,
5

10
3,

5
55

14
0

20

53

47
65

30
,5

83
,5

280
214

30
73

250

15
3

800

750

14
0

11
0

17 n.4

2 3

4

12

9

1311

10

7

8

6

5

1

13

11

9

7

5

2

1

3

4

6

8

10

12

61
4

11
7

55

47
4,

5

2

5

7

9

11

13

12
11
10
9
8
7
6
5

1
2
3
4

1313

4
3
2
1

5
6
7
8
9
10

STATORE ROTORE

11
12

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 M18x1.5 M18x1.5 15 350 400 Hydraulic Oil
2 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 350 400 Hydraulic Oil
3 M14x1.5 M14x1.5 10 350 400 Hydraulic Oil
4 M33x2 M33x2 18 350 400 Hydraulic Oil
5 M33x2 M33x2 18 350 400 Hydraulic Oil
6 M16x1.5 M16x1.5 15 350 400 Hydraulic Oil
7 M16x1.5 M16x1.5 15 350 400 Hydraulic Oil
8 M16x1.5 M16x1.5 15 350 400 Hydraulic Oil
9 M22x1.5 M22x1.5 20 350 400 Hydraulic Oil
10 M22x1.5 M22x1.5 15 350 400 Hydraulic Oil
11 M22x1.5 M22x1.5 18 350 400 Hydraulic Oil
12 M22x1.5 M22x1.5 18 350 400 Hydraulic Oil
13 2" SAE 6000 2" SAE 6000 50 350 400 Hydraulic Oil

27
,5

°

R125

13 n.4

25
°

25°

27,5°
25°

25°

12,5°

24

R110

13

4

9
10 11

12

1

14

2

5
67

8

3

85
36

5

16
21

8

46
5,

5

35

1

12

11

10

9

4

14

9

8
7

6

5

31 53

75
9711

914
116

318
520

7 22
925

1
33

0

27
3 29

9

50
22

137

165

135

60

1

2

3

4
5

6

7

8
9 10

11
12

13

14

6

514

21

12

11

13

4
3
2
1

5
6
7
8
9
10
11
12

1414

12
11

ROTORESTATORE

10
9
8
7
6
5

1
2
3
4

13

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 12 350 400 Hydraulic Oil
2 1/2"G 1/2"G 12 350 400 Hydraulic Oil
3 1/2"G 1/2"G 12 350 400 Hydraulic Oil
4 1/2"G 1/2"G 12 350 400 Hydraulic Oil
5 1/2"G 1/2"G 12 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil
7 1/2"G 1/2"G 12 350 400 Hydraulic Oil
8 1/2"G 1/2"G 12 350 400 Hydraulic Oil
9 1/2"G 1/2"G 12 350 400 Hydraulic Oil
10 1/2"G 1/2"G 12 350 400 Hydraulic Oil
11 1/2"G 1/2"G 12 350 400 Hydraulic Oil
12 1/2"G 1/2"G 12 350 400 Hydraulic Oil
13 3/4"G 3/4"G 20 350 400 Hydraulic Oil
14 3/4"G 3/4"G 20 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 13 VIE / SWIVEL JOINT 13 WAYS 
Cod. D180130000 

DISTRIBUTORE ROTANTE 14 VIE / SWIVEL JOINT 14 WAYS 
Cod. D100140100



350
325

22,5°

45°

22,5°

45°

1
6

7

3

14
12111098

2

4
5

13

12
3 3

12

40

85

30
4

50 50
30

4

61
4,

5

150 150

270

50

13

11

9

3

1

7

6

1

5

4

11

46

9915
4,

5 19
6,

5

22
5 25
3,

5

28
2 30

6 34
7

32
6,

536
7,

5

38
8

41
0,

5

43
5

195

199
269

1

2

3

4
5

6
7

8
9

10
11

12
13

14

10

12
11

11

12

143

7

6

13

4
3
2
1

5
6
7
8
9
10
11
12

1414

12
11

ROTORESTATORE

10
9
8
7
6
5

1
2
3
4

13

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"1/4G 1"1/4G 31 350 400 Hydraulic Oil
2 1"1/2 SAE 6000 1"1/2 SAE 6000 38 350 400 Hydraulic Oil
3 1"1/2 SAE 6000 1"1/2 SAE 6000 38 350 400 Hydraulic Oil
4 3/4"G 3/4"G 19 350 400 Hydraulic Oil
5 3/4"G 3/4"G 19 350 400 Hydraulic Oil
6 3/4"G 3/4"G 19 350 400 Hydraulic Oil
7 3/4"G 3/4"G 19 350 400 Hydraulic Oil
8 1/4"G 1/4"G 6 350 400 Hydraulic Oil
9 1/4"G 1/4"G 6 350 400 Hydraulic Oil

10 1/4"G 1/4"G n.2 6 350 400 Hydraulic Oil
11 1/4"G 1/4"G n.2 6 350 400 Hydraulic Oil
12 1/4"G 1/4"G n.2 6 350 400 Hydraulic Oil
13 1/2"G 1/2"G 12 350 400 Hydraulic Oil
14 1/2"G 1/2"G 12 350 400 Hydraulic Oil

45
0

14
11

0

199

61
3,

5

50

115

14
0

37

25

57

64
,5

81
59

,5
51

51
,5

51
51

30
78

69
54

51
51

51
51

80

30

M
10

 n
.4

100

159

1

2

3

4

5

6

7

8
9

10
11

12
13

14

15

228

M12 n.6

11
5

200

60°

10°60°

2

9

1
57

6

8

3

15
14

13 4 12
11

10

13

10
9

4

3
2
1

5
6
7

8

12
11

14
1515

14

11
12

ROTORE

8

7
6
5

1
2
3

4

STATORE

9
10

13

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1/2"G 1/2"G 14 350 400 Hydraulic Oil
2 1"1/4G 1"1/4G 25 350 400 Hydraulic Oil
3 1"1/4G 1"1/4G 25 350 400 Hydraulic Oil
4 3/4"G 3/4"G 16 350 400 Hydraulic Oil
5 3/4"G 3/4"G 16 350 400 Hydraulic Oil
6 1/2"G 1/2"G 14 350 400 Hydraulic Oil
7 1/2"G 1/2"G 14 350 400 Hydraulic Oil
8 1/2"G 1/2"G 14 350 400 Hydraulic Oil
9 1/2"G 1/2"G 14 350 400 Hydraulic Oil
10 1/2"G 1/2"G 14 350 400 Hydraulic Oil
11 1/2"G 1/2"G 14 350 400 Hydraulic Oil
12 1/2"G 1/2"G 14 350 400 Hydraulic Oil
13 1/4"G 1/4"G 14 350 400 Hydraulic Oil
14 1/4"G 1/4"G 10 350 400 Hydraulic Oil
15 1/2"G 1/2"G 10 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 14 VIE / SWIVEL JOINT 14 WAYS 
Cod. D170140100 

DISTRIBUTORE ROTANTE 15 VIE / SWIVEL JOINT 15 WAYS 
Cod. D124150100



380

17° 17°

32
° 32°

17° 17° 37°37°

32
°32°

342,9

30° 30
°

13 6 14

11 11

1

4 5
7

15

32

12

9 10

8

260

1313 15
35

147
5,

5
20 4

200

25

65

57
2,

5

n.2

59
,599

,513
4,

520
1,

5
22

7,
529

6,
536

5,
5

40
9,

5

59
,5

16
9,

5 25
0,

5 31
9,

5
38

7,
5

43
1

195

310
38

1 1

2

3
45

6
78

9
10

11

14
15

13
12

13

10
9

4

3
2
1

5
6
7

8

12
11

14
1515

14

11
12

ROTORE

8

7
6
5

1
2
3

4

STATORE

9
10

13

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"-16 UNF 3/4"-16 UNF 12 350 400 Hydraulic Oil
2 3/4"-16 UNF 3/4"-16 UNF 12 350 400 Hydraulic Oil
3 3/4"-16 UNF 3/4"-16 UNF 12 350 400 Hydraulic Oil
4 3/4"-16 UNF 3/4"-16 UNF 12 350 400 Hydraulic Oil
5 3/4"-16 UNF 3/4"-16 UNF 12 350 400 Hydraulic Oil
6 3/4"-16 UNF 3/4"-16 UNF 12 350 400 Hydraulic Oil
7 1-1/16"-12 UNF 1-1/16"-12 UNF 20 350 400 Hydraulic Oil
8 1-5/16"-12 UNF 1-5/16"-12 UNF 25 350 400 Hydraulic Oil
9 1-5/16"-12 UNF 1-5/16"-12 UNF 25 350 400 Hydraulic Oil
10 1-5/16"-12 UNF 1-5/16"-12 UNF 25 350 400 Hydraulic Oil
11 1-7/8"-12 UNF 1-7/8"-12 UNF 36 350 400 Hydraulic Oil
12 7/16"-20 UNF 7/16"-20 UNF 6 350 400 Hydraulic Oil
13 7/16"-20 UNF 7/16"-20 UNF 6 350 400 Hydraulic Oil
14 7/16"-20 UNF 7/16"-20 UNF 6 350 400 Hydraulic Oil
15 3/4"-16 UNF 3/4"-16 UNF 12 350 400 Hydraulic Oil

200

170

29
8,

5
15

89
,5

49
5

39
5

35
0,

7
37

5,
2

11
12

65
,5

35
,5

30,5

11
916

520
1

23
9,

527
531

0,
5

93
,5 14

2,
5 18

4 21
9 25

8,
5 29

2

6

4

2

16

14

10

8

15

13

9

7

5

3

1

13 n.4

R135

50

45° 45°

R120

1

13

14
12

3

15

10

11

2

5

8
4 9 6

16

7

15
14

11
12

8
7
6
5

1
2
3
4

9
10

13

1616

13

10
9

STATORE

4
3
2
1

5
6
7
8

ROTORE

12
11

14
15

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 1"G 1"G 25 350 400 Hydraulic Oil
2 1"G 1"G 25 350 400 Hydraulic Oil
3 3/4"G 3/4"G 19 350 400 Hydraulic Oil
4 3/4"G 3/4"G 19 350 400 Hydraulic Oil
5 1/2"G 1/2"G 12 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil
7 1/4"G 1/4"G 6 350 400 Hydraulic Oil
8 1/4"G 1/4"G 6 350 400 Hydraulic Oil
9 3/8"G 3/8"G 10 350 400 Hydraulic Oil
10 1/2"G 1/2"G 12 350 400 Hydraulic Oil
11 1/2"G 1/2"G 12 350 400 Hydraulic Oil
12 1/2"G 1/2"G 12 350 400 Hydraulic Oil
13 1/4"G 1/4"G 6 350 400 Hydraulic Oil
14 1/4"G 1/4"G 6 350 400 Hydraulic Oil
15 1/4"G 1/4"G 6 350 400 Hydraulic Oil
16 1/2"G 1/2"G 12 350 400 Hydraulic Oil

DISTRIBUTORE ROTANTE 15 VIE / SWIVEL JOINT 15 WAYS 
Cod. D170150100 

DISTRIBUTORE ROTANTE 16 VIE / SWIVEL JOINT 16 WAYS 
Cod. D125160100



NOTE
Notes

242

20
,5

54

9111
9 14
4,

516
8 20

1

22
1 24
126

1

29
2,

5

31
1,

5 33
0,

5

34
9,

5

36
8,

5

38
8

40
742

6

225

1

222

3

4
5

6

7
8

9
10

13

11
12

14
15

16
1718

280

20
20

23
2

70

53
9

80

43
9,

5

30

85

85

27
0

30
0

115

115

17 n.4

M16 n.3

20
0 2

2

18

14

4

1312
1

11
17

16

10

9
5

8 7
3

6

15

POS. STATORE
stator

ROTORE
rotor DN [mm]

PRESSIONE LAVORO
[bar]

working pressure
[bar]

PRESSIONE MAX
[bar]

max pressure
[bar]

FLUIDO
�uid

1 3/4"G 3/4"G 20 350 400 Hydraulic Oil

2 1"1/2G n.2 1"1/2G-1"1/4G-
1"G 32 350 400 Hydraulic Oil

3 1"1/4G 1"1/4G 30 350 400 Hydraulic Oil
4 1"G 1"G 20 350 400 Hydraulic Oil
5 3/4"G 3/4"G 20 350 400 Hydraulic Oil
6 1/2"G 1/2"G 12 350 400 Hydraulic Oil
7 3/4"G 3/4"G 12 350 400 Hydraulic Oil
8 1/2"G 1/2"G 12 350 400 Hydraulic Oil
9 3/4"G 3/4"G 12 350 400 Hydraulic Oil
10 1/2"G 1/2"G 12 350 400 Hydraulic Oil
11 1/2"G 1/2"G 12 350 400 Hydraulic Oil
12 1/2"G 1/2"G 12 350 400 Hydraulic Oil
13 1/2"G 1/2"G 12 350 400 Hydraulic Oil
14 1/2"G 1/2"G 12 350 400 Hydraulic Oil
15 1/4"G 1/4"G 8 350 400 Hydraulic Oil
16 1/4"G 1/4"G 8 350 400 Hydraulic Oil
17 1/4"G 1/4"G 8 350 400 Hydraulic Oil
18 1/4"G 1/4"G 8 350 400 Hydraulic Oil

15

14

17

16

11

12

8

7

6

5

1
2

3

4

9

10

13

18

13

10

9

STATORE

4

3

2
1

5

6

7

8

ROTORE

12

11

16

17

14

15

18

2
22

DISTRIBUTORE ROTANTE 18 VIE / SWIVEL JOINT 18 WAYS 
Cod. D170180100 



NOTE NOTE
Notes Notes



DISTRIBUTORI 
ROTANTI

HYDRAULIC  
SWIVEL JOINTS

Via Mastroppa, 4/6 -  46040 Monzambano (Mantova) -  Italy -  Tel. +39 0376 800200 (r.a.) -  Fax +39 0376 800410 -  hbs@hbs.it -  www.hbstransmittal.it

HB S s .r.l .  Hydraulic Swivel J oint B ranch

Via Mastroppa, 4/6 -  46040 Monzambano (Mantova) -  Italy -  Tel. +39 0376 800200 (r.a.) -  Fax +39 0376 800410 -  hbs@hbs.it -  www.hbstransmittal.it

HB S s .r.l .  Hydraulic Swivel J oint B ranch


